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1 a)

b)

b)

Free Fall Problems

A cannon fires a cannonball straight up at 30 m/s. How long is the V£= BOM‘S
cannonball in the air? (time up and down)
. V. =
Ve Vitat += q - 3.06 Sec £= O
O~ 230-9.9¢ 6 TmE o Yof = 3%
oF p‘-‘*k A= o= q.e
t= 7

. 30 =
9.6¢ = 7 2.00 Tolalz 3.06(2)
How high does the cannonball go? L G-\ Sec
Ve o o+ao
e

An archer fires an arrow straight up into the air. She times the arrow and it is in the air
for 5 seconds. How high does the arrow go in 2.5 seconds (the top of the path)?
(hint What is the velocity at the top of the path?)
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How fast did she shoot the arrow? (what is_the initial velocity?) V= o
=7
a

o = VNr-9.8(2S)

How fast is the arrow going when it hits the ground?

Vg =V rat
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3 a) A mountain climber wants to figure out how high a cliff is, so he drops a rock off the

b)

c)

ledge. The rock takes 2.6 seconds to hit the ground. How high is the cliff?
d-= Vit +Yzea %

2 =0
d =0 % .lt. ('q'e) ('L"D) = 3% IM A|5p14“~y+1
How fast does the rock hit the ground? Vf = ¥
V.‘ ] \’ I"" ‘\"k _ ?
Via0 —a.8(2.¢) (26,5 m/5 2= -9.8
What acceleration does the rock experience? t= Z.0
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